
Match the equivalent expressions.
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Evaluate the expression.
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Simplify the expression. Write your answer using only positive exponents.
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25. FingerThickness Yourfriendtellsyouthatherfilrger*(i)-t inchthick. Evaluate
tthr .*pt .sion that represents the thickness of your friend's finger.

26. Floor Tile The minimum recommended width of the space between 6-inch by
6-inch tiles is 2-2 inchand the maximum recommended width is 2-l inch. Simplifu
the expressions for the minimum and maximum widths of the space between the
6-inch by 6-inch floor tiles.

27. Hole Punch Your hole punch makes holes in your paper that have d diameter of
. 4-l inch.

a. Write an expression for the area of one punched hole. Use the formula for the
area of a ckcle A : rf .

b. Your hole punch makes three holes in a page. Write an expression for the total
area punched out ofone sheet ofpaper.
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Name

H?",',1:#:f:,P*
Evaluate the expression.
1. 3-s 2. 1o-3

18. 3x-2y-s
^-)21-2-d-r

24. --l -3x-ty-,

25. Paper A sheet of 67-poundpaperhas a thickness of 100-l inch.
a. Write. and evaluate an expression for the total thickness of 5 sheets of

67-pound paper.
b, write and evaluate an expression for the total thickness of 23 sheets of

67-pound paper.
26. Flogs A frog egg currently has a radius of 5- I centimeter. Write an expression

using positive exponents for the volume of the frog egg. Use the formuia for the
volume of a sphere V: tnf .

27- Metric system The metric system has names for very small rengths.

a. One micrometer is 103 times the length of one nanometer. One nanometer is
l0-e meter. Write one micrometer in meters.

b. One femtometer is 103 times the length of one attometer. One attometer is
l0-18 meter. Write one femtometer in meters.

c. One centimeter is l0l0 times the length of one picometer. One picometer is
l0-12 meter. Write one c-entimeter in meters.
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simplify the expression. write your answer using only positive exponents.
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